

۱۱۵

نستین ارمایلی

۱) رقم یکان عدد (۱! + ۳! + ۵! + ... + ۲۵!) (۲! + ۴! + ۶! + ... + ۲۶!) را بیابید

$$1! \times 2! \times 3! \times \dots \times 25! \times 26! =$$

از ۵ به بعدی دل ۲ و ۵ = ۰

$$\begin{array}{l} 1! \rightarrow 1 \quad 3! \rightarrow 6 \\ 2! \rightarrow 2 \quad 4! \rightarrow 24 \end{array} \quad 1 + 2 + 6 + 24 = 33$$

۱۱۵

۲) حاصل عبارت زیر را بیابید: $\sqrt[4]{1+\sqrt{2}} = (1+\sqrt{2})^{\frac{1}{4}} \rightarrow (1+\sqrt{2})^{\frac{1}{2}} \rightarrow (1+\sqrt{2})^{\frac{1}{2}} \rightarrow (1+\sqrt{2})^{\frac{1}{2}}$

$$\sqrt[4]{(1+\sqrt{2})^{-1}} \quad \sqrt[4]{1+\sqrt{2}} \rightarrow \sqrt[4]{\frac{1}{1+\sqrt{2}}} \rightarrow \left(\frac{1}{1+\sqrt{2}}\right)^{\frac{1}{4}} \rightarrow (1+\sqrt{2})^{\frac{1}{4}}$$

$$(1+\sqrt{2})^{\frac{1}{4}} \times \frac{1}{(1+\sqrt{2})^{\frac{1}{4}}} = 256 + 192 \times \frac{1}{1} = \frac{448}{1} = 448$$

$$\text{ب) } \left(\frac{\sqrt{5}+\sqrt{2}}{\sqrt{10}+2}\right) (\sqrt{3}-\sqrt{5} - \sqrt{2}+\sqrt{5})$$

$$\frac{\sqrt{5}+\sqrt{2}}{\sqrt{10}+2} \times (\sqrt{3}-\sqrt{5} - \sqrt{2}+\sqrt{5}) =$$

$$\frac{\sqrt{5}+\sqrt{2}}{\sqrt{10}+2} \times \frac{\sqrt{3}-\sqrt{5} - \sqrt{2}+\sqrt{5}}{1} = \frac{\sqrt{5}+\sqrt{2}}{\sqrt{10}+2} \times \frac{-2\sqrt{5}}{1} = \frac{\sqrt{10}}{\sqrt{10}+2}$$

۳) حاصل عبارت زیر را بدو آدرید.

$$\frac{\sqrt{8}+\sqrt{27}}{5-\sqrt{6}} - 2(\sqrt{9}-1)^{-1}$$

$$\frac{2\sqrt{2}+3\sqrt{3}}{5-\sqrt{6}} - 2\left(\frac{1}{\sqrt{9}-1}\right) = \frac{2\sqrt{2}+3\sqrt{3}}{5-\sqrt{6}} - \frac{2}{\sqrt{9}-1}$$

$$\frac{\sqrt{27}-1}{4+\sqrt{3}} + (2-\sqrt{3})^{-1} = \frac{3\sqrt{3}-1}{4+\sqrt{3}} + \frac{1}{2-\sqrt{3}} = \frac{3\sqrt{3}}{(4\sqrt{3} \times 2-\sqrt{3})} = \frac{3\sqrt{3}}{8-3}$$

$$\frac{\sqrt{1+\sqrt{r}} + \sqrt{\sqrt{r}-1}}{\sqrt{\sqrt{r}-r}} = \frac{(\sqrt{1+\sqrt{r}})^2}{(\sqrt{1-\sqrt{r}})^2} = \frac{1+\sqrt{r}}{1-\sqrt{r}}$$

Ⓢ

$$\frac{\sqrt{1+\sqrt{r}} + \sqrt{1-\sqrt{r}}}{\sqrt{\sqrt{r}-r}} = \frac{1+\sqrt{r} + 1-\sqrt{r}}{\sqrt{\sqrt{r}-r}} = \frac{2}{\sqrt{\sqrt{r}-r}}$$

$$\sqrt[3]{r^{\frac{1}{3}}} \times \sqrt[3]{1 \pm r} \times \sqrt[3]{r \pm r} = \sqrt[3]{r^{\frac{1}{3}} \times r^{\frac{1}{3}} \times r^{\frac{1}{3}}} = \sqrt[3]{r^{\frac{1}{3} + \frac{1}{3} + \frac{1}{3}}} = \sqrt[3]{r^1} = \sqrt[3]{r}$$

$$\sqrt[3]{r^{\frac{1}{3}}} \times \sqrt[3]{r^{\frac{1}{3}} \times r} \times \sqrt[3]{\frac{r}{r^{\frac{1}{3}}}}$$

$$\frac{r^{\frac{1}{3}}}{r^{\frac{1}{3}}} \times r^{\frac{1}{3}} \times r^{\frac{1}{3}} \times \frac{1}{r^{\frac{1}{3}}} = r^{\frac{1}{3}} \times r^{\frac{1}{3}} \times \frac{1}{r^{\frac{1}{3}}} = \frac{1 + r + r^{\frac{1}{3}}}{r^{\frac{1}{3}}} = \frac{\omega^2}{r^{\frac{1}{3}}} = \frac{r\omega}{r^{\frac{1}{3}}}$$

$$\frac{r^{\frac{1}{3}} + r^{\frac{1}{3}+1} + r^{\frac{1}{3}+2} + r^{\frac{1}{3}+3} + r^{\frac{1}{3}+4} + r^{\frac{1}{3}+5}}{r^{\frac{1}{3}-1} + r^{\frac{1}{3}-2} + r^{\frac{1}{3}-3} + r^{\frac{1}{3}-4} + r^{\frac{1}{3}-5} + r^{\frac{1}{3}-6}} = \Delta r$$

Ⓢ = 2, 1, 1, 1, 1, 1

Ⓢ

$$\frac{r^{\frac{1}{3}} (1 + 1 + r + 1 + r + 1 + r + 1 + 1 + 1 + r^{\frac{1}{3}})}{r^{\frac{1}{3}} (1 - \frac{1}{r} + 1 - \frac{1}{r} + 1 + 1 + r + 1 + r + 1 + 1)} = \Delta r$$

$$\frac{r^{\frac{1}{3}} (1 - \frac{1}{r} + 1 - \frac{1}{r} + 1 + 1 + r + 1 + r + 1 + 1)}{r^{\frac{1}{3}} (1 - \frac{1}{r} + 1 - \frac{1}{r} + 1 + 1 + r + 1 + r + 1 + 1)} = \Delta r$$

$$\frac{r^{\frac{1}{3}} (r^{\frac{1}{3}} + 1)}{r^{\frac{1}{3}} (r^{\frac{1}{3}} + 1)} = \Delta r$$

$$\frac{1}{1} + \frac{1}{r} = \frac{r+1}{r} = \frac{r+1}{r}$$

$$b = \sqrt[r]{\sqrt{y} + r} \quad a = \sqrt[r]{\sqrt{y} - r} \quad (4)$$

$$(a^r + b^r - rab)^r (a^r + b^r + rab)^r = t(r - \sqrt{r}) \quad \text{مقدار } r$$

$$\left(\sqrt[r]{\sqrt{y} - r} \right)^r + \left(\sqrt[r]{\sqrt{y} + r} \right)^r - r \left(\sqrt[r]{\sqrt{y} + r} \times \sqrt[r]{\sqrt{y} - r} \right), \quad \left(\sqrt[r]{\sqrt{y} + r} \right)^r - \left(\sqrt[r]{\sqrt{y} - r} \right)^r = 0$$

$$\left(\sqrt[r]{\sqrt{y} - r} + \sqrt[r]{\sqrt{y} + r} - r \sqrt[r]{\sqrt{y} + r} - r \sqrt[r]{\sqrt{y} - r} \right)^r \quad \sqrt[r]{\sqrt{y} + r} - \sqrt[r]{\sqrt{y} - r}$$

$$+ \sqrt{y} - r + \sqrt{y} + r - r \sqrt{y} - r - r \sqrt{y} + r =$$

$$r \sqrt{y} - r \sqrt{y} = -r \sqrt{y}$$

$$(a^r + b^r + rab)^r = \left(\sqrt[r]{\sqrt{y} - r} + \sqrt[r]{\sqrt{y} + r} + r \left(\sqrt[r]{\sqrt{y} + r} \times \sqrt[r]{\sqrt{y} - r} \right) \right)^r$$

$$\sqrt{y} - r + \sqrt{y} + r + r \sqrt{y} + r + r \sqrt{y} - r = r \sqrt{y} + r \sqrt{y} = 2r \sqrt{y}$$

$$2r \sqrt{y} - r \sqrt{y} = r \sqrt{y} = t \left(\frac{1}{r} \sqrt{y} \right) = r \sqrt{y}$$

$$r \sqrt{y} = r \times r, r = 9, 9$$

$$\text{or } r \times t = 9, 9 \Rightarrow t = 1$$

$$a = \sqrt[r]{r - r \sqrt{r}}$$

$$\left(a + \frac{1}{a} + \sqrt{r} \right)^r \left(a + \frac{1}{a} - \sqrt{r} \right)^r = r^t$$

$$\left(\sqrt[r]{r - r \sqrt{r}} + \frac{1}{\sqrt[r]{r - r \sqrt{r}}} + \sqrt{r} \right)^r = \sqrt[r]{r - r \sqrt{r}} + \frac{1}{\sqrt[r]{r - r \sqrt{r}}} + r$$

$$\left(\sqrt[r]{r - r \sqrt{r}} + \frac{1}{\sqrt[r]{r - r \sqrt{r}}} - \sqrt{r} \right)^r = \sqrt[r]{r - r \sqrt{r}} + \frac{1}{\sqrt[r]{r - r \sqrt{r}}} - r$$

$$A = \sqrt[r]{r \sqrt[r]{1/r}} \left(\frac{1}{r}\right)^{-\frac{r}{r}} / (rA)^{-\frac{1}{r}} \quad (1)$$

$$\sqrt[r]{\sqrt[r]{r^r} \times r} = \sqrt[r]{r^r \times r} = r^{\frac{r}{r}} = \sqrt[r]{r} = r \quad (2)$$

$$r \times \left(\frac{1}{r}\right)^{-\frac{r}{r}} = r \sqrt[r]{r^r}$$

$$\left(\frac{1}{r}\right)^{-\frac{r}{r}} = (r)^{\frac{r}{r}} = \sqrt[r]{r^r}$$

$$r \times r \times \sqrt[r]{r^r} = (r \sqrt[r]{r^r})^{-\frac{1}{r}} \left(\frac{1}{r \sqrt[r]{r^r}}\right)^{\frac{1}{r}}$$

$$\sqrt{n+a} + \sqrt{n-c} - r = ?$$

$$\underbrace{\sqrt{n+a}}_u - \underbrace{\sqrt{n-c}}_y = r \quad (3)$$

$$u - y = r \quad (4)$$

$$u + y - r = ?$$

$$u - r = y?$$

$$u = r + ?$$

$$u = r + \frac{?}{r}$$